THROUGHPUT ACCOUNTING - F5-PM
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Fundamental features include:

. prevention of errors before they occur

. importance of total quality in the design of systems and products
% -

. reaf all employees

e commitment of senior management lo the cause

. recognltlon of the vital role of cuslomers and suppliers

. recognition of thelneed Yor continual improvement.

Key\cér\aft\e;istics for successfully operating such a system are:
High quality: possibly through deploying

Speed: rapito meet customers’ needs.
Reliability: computer-aided manufacturing technology will assist.

Flexibility: small batch sizes and automated technigues are used.
~ —_ - -
Low costs: through all of the above.
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Standard product costs are associated with traditional manufactunng systems

producing large quantities of standard items. Key fe: features of compames

peralmg inaJ JIT and TQM environment are:
high Ievel of automation
high levels of overheads and low levels of direc;labour costs
customised products produced in small batches
low stocks

# emphasis on high quality and continuous improvement.
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Hard TI|ES recorded a pmflt of N 120 000 ip the accounting period just

o0 r|but|onfsa|e5r tlowas 75%. — )( \
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Material costs wer10% of sales yalue and there were no other variable :,,g
production overhead COSTs. Fixed costs in the period were 8300 000. \Q
S
Required: 4\
What was the value of throuahput in the period?
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Criticisms of TPAR

. It concentrates on th when a business has a fixed supply of
resources (i.e. a bottleneck] and operating expenses are largely fixed.
However, most businesses can't produce products based on the short
term only.

. It is more difficult to apply throughput accounting concepts to the longer-
erm)when all costs are variable, and vary with the volume of production

and sales or another cost driver. The busipess-sheuld consider this long-
term view before rejecting products with &

. In the longer-term an ABC approach might be more appropriate for
measuring and controlling performance.

Limited manufactures a product that requireg 1.5 hours of machining.

Machine time is a bottleneck resaurce, due to thelinited number of

machines available. There aré 10 machines axailable),

machine can be used for up
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The product is sold for{ $85)per unit and the direct mateffarzost per unit
is §42.50. Yotal factorycobts ar
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A business manufactures a single product that it sells for $10 per unit.
The materials cost for each unit of product sold is $3 T perating
expenses are $50,000 each month. \\“
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Calculate the throughput accounting ratio (TPAR)

unit of

yeach month.
product take
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Justin Thyme manufactures four products, A, B, C and D. Details of &‘W\
sales prices, costs and resource requuemenls s for each of the products

are as follows. - -
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Sales price 1.40 0.80 1.20 2. 80 O .

Materials cost 4 0 GO]O 3 0 30]°S 0.60 ]b ¢ 1 00]|~$ H)TWNJ‘?“‘\’\)N “ %\ ’ g b \ $
| Direct labour cost 0.40 0.20 0.40 1.00

/__\515//_ _Minutes Mesw Minutes ngules !\\) BO‘“‘Q’\C(‘C e w\.} 0-03%)( 0 038 05
A Machine time per unit 500 W 9 T30V
abour time per unit,
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o 2 'e time is a bbtilene&ckTEsource and the maximum capacity is ‘) Vlklﬂ \N\/. N“b:& ) .ks
{4 J hl%aCh week. Operating costs, including direct labour Bdmtm mh 400 M
coseote ch week. Direct labour costs are 512 per hour, and
diregylaboul s are paid for a 38 hour week, withTio overtime. \(\) MW 0" resonce. D = \Sm 1S 0. S\GO “M\'S?
(a)ff Determine the guantities of ear.tmroduct that should be

. 250 Mo
manufacturedfand-sottesgh week o ma)umlse profit and D = \Sw VNb
calculate thg'weekly profit.

R - 2090 wnls B - 20W X 0% (673 M
(b) Calculate the throughput accounting ratio at this profit-maximising £ ‘83 mM
level of output and sales.
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